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R's mean: 198.71, median: 214, mode: 254
G's mean: 157.03, median: 153, mode: 254
B's mean: 93.47, median: 37, mode: 254
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R's mean: 198.71, median: 214, mode: 254
G's mean: 157.03, median: 153, mode: 254
B's mean: 93.47, median: 37, mode: 254
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R's mean: 103.45, median: 82, mode: 30
G's mean: 102.15, median: 82, mode: 29
B's mean: 83.35, median: 56, mode: 26
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R's mean: 103.45, median: 82, mode: 30
G's mean: 102.15, median: 82, mode: 29
B's mean: 83.35, median: 56, mode: 26
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image22.png
n=128; n=128;

fin=fopen( '[2a.rvaw','r');
¥=fread(fin,m*n, 'uint8=>uint8'); fclose(fin);
Y=reshape(X,m,n);

Y=y

figure;

subplot(2,2,1);
imshow(Y);

title( ' [2a.raw');
subplot(2,2,2);
histogram(¥);

title( 'Histogram');
subplot(2,2,3);
imshow(histeq(Y,4));
title( 'level=4");
subplot(2,2,4);
histogram(histeq(Y,4));
title( 'Histogram');
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S1.txt
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end

y0 + 1;
x0 - 1; y0 = y0
x0 - 1;
x0 - 1; y0 = y0
y0 -1;
x0 + 1; y0 = y0
®0 + 1;
x0 + 1; y0 = y0
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end

fprintf("in");

ref = idct(tmp);

[peaksnr, ~] = psnr(tmp, ref);

fprintf('\n The PSNR value is %0.4f\n', peaksnr);
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while(xx<=64)
if(xx==1)
s = vec(xx);
num = strlength(dec2bin(abs(s), 1));
fprintf("(%d, %d)", mm, s);

else

cnt = 0;

while(xx<=64 &k vec(xx)==0)
cnt = cnt+l;
XK = Xxtl;

end

if(xx==65)
fprintf(", EOB");

else
t = vec(xx);
num = strlength(dec2bin(abs(t), 1));

fprintf(", (%d, %d, %d)", cnt, num, vec(xx

end
end
XK = Xxtl;

K
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(4, 12), (0, 2, -2), (0, 2, 2), (0, 1, -1), (0, 2, -3), (0, 1, 1), (O, 1, -1), (0, 2, 2), (0, 2, -2), (O, 1, -1), (4, 1, 1), (3, 1, 1), (5, 1, -1), EOB

The PSNR value is -5.1030
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(3, 6), (0, 4, 12), (0, 5, 21), (0, 2, -2), (0, 3, 5), (0, 1, 1), (O, 1, 1), (0, 2, -3), (0, 3, -5), (0, 1, 1), (1, 2, -2), (O, 3, -3), (0, 1, -1},
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(2, 1, -1y, (0, 1, 1), (0, 2, 2), (3, 1, -1), (1, 2, 2), EOB
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The PSNR value is -11.2424
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%Q5(b)

syms x

x=(-10:0.005:10);
fi=exp(-x.A2/(2+272)).*cos(2*pi.*(3*X)
funct = x - ff;

subplot(1,2,1);

plot(x, ff);

subplot(1,2,2);

plot(x.func1);
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rgblmage = ¥

redChannel = rgblmage(:, :, 1);

greenChannel = rgblmage(:, :, 2);

blueChannel = rgblmage(:, :, 3);

z = zeros(size(rgblnage), class(rgblmage));
redImage = z; redImage(:,:,1) = redChannel;
greenlnage = z; greenlmage(:,:,2) = greenChannel;
bluelmage = z; bluelmage(:,:,3) = blueChannel;
subplot(2,2,1); image(rgblmage);
subplot(2,2,2); image(redlmage);
subplot(2,2,3); image(greenlnage);
subplot(2,2,4); image(bluelmage);
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fprintf('R's mean: %.2f, median: %d, mode: %d'n", mean(R(:)), median(R(:)), mode(R(:)));




image3.png
fprintf("G's mean: %.2f, median: %d, mode: %d'n", mean(G(:)), median(G(:)), mode(G(:)));
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fprintf('B's mean: %.2f, median: %d, mode: %d'n", mean(B(:)), median(B(:)), mode(B(:)));
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